BASTA CUSTOM WIDE V-BUNK KIT

BOATLIFTS
—_ [A427-1001] FOR MODELS 7k51, 7k64, 8k53, & 8k65

(1) Bunk Chevron Weldment (Qty 3) W113-0027

(2) Chevron Extension Weldment (Qty 6) W7713-0028
(3) Bunk Board Assembly, 2 x 4 (Qty 4) A428-0025
(4) Bunk Board Assembly, 2 x 6 (Qty 2) A428-0026
(5) Bunk Stanchion (Qty 18) K204-0112

(¢6) Bolt Plate, Bunk Chevron (Qty 4) K204-0123

(7) Bolt Plate, 2 x 5 (Qty 18) K204-0121

(3) Hex head bolt, 1/2” x 1.25” (Qty 18) S703-0706
(9) Hex head bolt, 3/8” x 3.5” (Qty 32) S103-0515
(10) U bolt, 7/16” x 3.125” x 3.5” (Qty 18) S170-6601
(1) Nylock nut, 1/2”-13 (Qty 18) S362-0010

(12) Nylock nut, 3/8”-16 (Qty 32) S362-0008

(13) Nylock nut, 7/16”-14 (Qty 36) S362-0009

(14) Washer flat, 1/2” (Qty 36) S3713-0010
(15) Washer flat, 3/8” (Qty 64) S313-0008
(1) Washer flat, 7/16” (Qty 36) S373-0009

AFT %,
Use these diagrams to help place the kit.
s
|
[\mL 11 J\‘ Ll
054'[‘ N 1 ‘rr o V] jﬁ
H—
‘ [ | 05 é
I P W 1, T 1
0.5 Ir I ﬂ”—j
Y- M 45— ] ! "
Top view - Right view -

Specifications subject to change.

Doc # L352-0033B 7/14/2022

866-GO-BASTA www.gobasta.com © Basta Boatlifts 2022




